647510 MCM3AcaE101A Seat No :
M.Com Semester - 3 (CBCS) Examination
Oct/Nov. -2019 - [NEW COURSE]
Advanced Cost Accounting (Elective (New))

Time: 2:30 Hours Marks: 70
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
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ENGLISH VERSION

Instructions: (1) Figures t the right in brackest indicate full marks of the question.

Q.1

Q.1

Q.2

Q.2

Following is the information of production department of PRANAV Ltd. [20]
Particular Estimated Actual
Production(Units) 15000 16250
Hours 15000 16500
Fixed overhead Exp. Rs. 22500 25000
Variable overhead Exp. 30000 34000
Rs.
You are calculate the following variance:
1. Total overhead cost variance 4. Expenditure\Budget variance.
2. Variable overhead cost variance. 5. Volume variance.
3. Fixed overhead cost variance.
OR
Following is the information of production department of JAHANVI Ltd.
Particular Actual Estimated
Production(Units) 1900 2000
Fixed overhead Exp. Rs 19500 20000
Variable overhead Exp. Rs 6000 6000
Working Days 21 20
You are to calculate the following variance:
(A) Variable overhead cost variance. (B) Fixed overhead cost variance.
*  Volume variance. * Expenditure\Budget variance.
* Calendar variance. * Efficiency variance.
From the following information related to Sales Margin calculate the variance. [20]
Budgeted
Product | Units Per unit sales price Total | Per unit cost Rs. | Total cost
Rs.
A 3000 6 18000 5 15000
B 1500 7.5 11250 6 9000
Total 4500 29250 24000
Actual
Product Units Per unit sales price Total | Per unit Total cost
Rs. cost Rs.
A 4000 5.5 22000 5.25 21000
B 2000 8 16000 6.5 13000
Total 6000 38000 34000
Calculate Profit Variance:
1. Total sales margin variance. 2. Sales margin price variance.
3. Sales margin volume variance. 4. Sales margin mix variance.
5. Sales margin sub-volume variance.
OR
Pankit Ltd. Is producing and selling two products A and B. following are the details [20]
regarding its projected and actual sales during March 2019.
Product | Projected sales - Standard sales Actual sales Actual sales
Units price Rs. Units price Rs.
A 400 100 500 110
B 350 150 400 140
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Q.3

Q.3
Q.4

Cost Price per unit : A-Rs.90 and B — Rs. 120

Calculate: 1.Profit value variance. 2. Profit price variance.
3. Profit volume variance. 4. Profit mix variance.
5. Profit sub — volume variance.

[A] SHIVAM Ltd. Produced product “X” cost of producing first unit of “X” is as under:
Raw materials Rs. 40000. Labour cost — 150 hours at Rs.60 per hour, Variable overhead
— Rs. 20 per hour.

If there 1s 90% learning curve effect. Compute the cost of producing 1 (one) unit and 8
(Eight) units of product “X* as well as average cost per unit.

[B] Discuss the uses of Learning Curve.
OR

Explain the concept and importance of Activity Base Costing,

Write short note (Any Three).

1. Advantages of cost audit.

2. Process of cost reduction.

3. Techniques of cost reduction.
4. cost audit programme.

5. importance of cost reduction.
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